DATABASE MANAGEMENT SYSTEM-B

Time : Three Hours ' Maximum Marks : 70

Note : Attempt one question each from Sections A, B, C and D carrying 14 marks each. Section E is
compulsory consisting of 7 short answer questions carrying 2 marks each.

SECTION-A
I. What are the characteristics and limitations of Traditional File Processing System ? 14
Il.  Explain different users of Database Management System. 14
SECTION-B
II.  Explain the concept of Entity-Relationship model with suitable example. 14
IV. " Explain the procedure to convert E-R diagram to tables. 14
SECTION-C
V. What is the importance of Database Normalization ? Explain INF, 2NF and 3NF. 14
VL. Explain the methods for implementing Database Security. 14
SECTION-D
VII. How tables are created in MS-Access ? Also write various data types and integrily rules associated
with fields. . : 14
VI1I. What are different report formats in MS-Access ? Write different methods for report creation. 14
SECTION-E

IX. Write short answers ;
(@) Define Database Management System. (b) What is Domain Integrity ?
(c) Write note on Foreign Key.
(d) Differcntiate between Strong entity set and Weak-entity set.
(e) What is Authentication ? (f). What is Module in MS-Access ?
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